National & Mathematics

APP 1-2 Rig@ur Maths

Outcome 3 - Using Vector Components

Bronze examples Silver examples Gold example
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- (2 (8 Vector a = ( Y ) and vector b = ( 3 ) Given that..
Vector a= (5) and vector b = (_3). (53 _39

Calculate a + b.
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Vector p = (g) and vector q = (_31) Vector p = ( 3
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Calculate a + b.
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Calculate 5p - 3q. Calculate 2p - 3q.
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B — Express 2a-b + %c in component form.
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Bronze Questions

Complete the following vecter component
calculations...

& Vectorm = (1) and vectorn = (7).
Calculate m +n.

& Vectorr = (£) and vector s = (7).
Caleulate r -s.

<« Vectorg=(3)andvectorh = (%))
Calculate 8g + 5h.

& Vectorc = (7) and vectord = (,).

Calculate 4¢ - 3d.

Gold Questions

Complete the following vector component
calculations..

p o Givenfhata=(i),b=( 3 )andc=(?§).
7 -1 3

1 .
Express 4a +b + S c in component form.

& Givenfha1a=(g),b=( 5 )Clnd!::(le&i),
2 s ~4

1.
Express 3a-b + 7 ¢ in component form.

2 Givenfha1a=(é),b=( ﬁ )andc=(_06),
4 -3 12

Express 2a - bb - %c in component form.
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Silver Questions

Complete the following vector component
calculations...

4 8
& Vectorm = ( -3 ) and vector n = ( 0 )
5 -2
Calculate m + n.
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& Vectorrp = ( 3 )and vectors = ( 6 )
-7 -5

Calculate r - s.

= Vectorg = (é) and vector h = ( _:5 )

Calculate Bg + 2h.

& Vectore :( ﬁ )cmd vectord = (3)
1
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Calculate 4¢ - 5d.
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Bronze Answers
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Silver Answers
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Gold Answers

() - (1) + ()
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